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T R —)LERZHR 1 &FR
ER &Y W300 4 &R
MIRRET IR IIVERET AREL 1 T
S AL R YT R t=5cm 1.5 x 4 = 6 6.0 m
SRR t=5cm 1.5 x 1.5-0.4 =1.9 1.9 m2
R t=15cm 1.9 x 0.15 =0.3 0.3 m3
KRty 0.3m3
H S04 (AS) 1.9 x 0.05 =0.1 0.1m3
#5045 (COERR) (0.82x0.82-0.6x0.6) x wt/4x0.09=0.02 0.02 m3
A5 45 (C0EER m3
REI (BEFHIEAS) |t=bcm 1.9 m2
BT (BAENRRA) [t=15cm 1.9 m2
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1EKTE YFETIE 1 &ifkr
fis THTALIE T ELZILEBRET AIREL |ET7n
SRR U] t=5cm 1.5 x 4 =6 6.0 m
R R R t=5cm 1.5 x 1.5 -0.4 =1.9 1.9 m2
#EEI t=10cm 1.9 x 0.1 =0.2 0.2 m3
ELusn 0.2m3
#5805 (AS) 1.9 x 0.05 =0.1 0.1m3
#5805 (COERR) (0.82x0.82-0.6x0.6) x w/4x0.04=0.01 0.01 m3
H S 05 (COE#R) m3
KBTI (BEBEMEAS) [t=5cm 1.9 m2
PR T (A MERFRA) [t=100m 1.9 m2
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---------------- .—.
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BEE &Y W300 SR

S bR LT B t=5cm 1.5 x 4 =6 6.0 m

S RS R t=5cm 1.5 x 1.5 -0.4=1.9 1.9 m2

1EHEl t=29cm 1.9 x 0.29 =0.6 0.6 m3

RLasn 0.6 m3

15 8053 (AS) 1.9 x 0.05 =0.1 0.1m3

H S5 (COES) (0.82x0.82-0.6x0.6) x 7t /4x0.23=0.06 0.06 m3

HS 5 (COEF) m3

RET (BEFHEAS) |[t=5cm 1.9 m2

PR T (BAARA) |t=29cm 1.9 m2




~ U v A - LVEBIREMOLBEGTERESE

BTy T TSI TS HTS T
< UR—NVEE AS Co (#E&47) Co (5 1)
m3 m3 m3 m3
36-2-1 0.2 0.1 0.01
36-2-2 0.2 0.1 0.01
36-2-3 0.3 0.1 0.02
36274 0.1 0.1 0.01
36-8-1 0.2 0.1 0.01
312 0.3 0.1 0.02
39-1-1-2
39-1-1-3
39-172-1 0.2 0.1 0.01
39-1-3-1
39-5-2
39-5-3
39-9-1
39-9-2
39-9-3
39-9-4
39-9-5
39-9-6
NEr 1.5 0.7 0.09

TLRM




~ U v A - LVEBIREMOLBEGTERESE

v UR—NVEE

RN I

m3

77 W5y
AS

m3

785y
Co (%)

m3

77 gy
Co (HH)

m3

39-9-7

39-9-8

39-9-9

39-9-10

39-9-11

39-9-12

39-9-13

39-9-14

61-1-1-1

61-1-2-1

61-1-2-2

61-1-2-3

61-1-2-4

61-1-2-5

61-1-2-6

61-1-2-7

0.2

0.1

0.01

61-1-2-8

61-1-2-9

/Wit

0.2

0.1

0.01




~ U v A - LVEBIREMOLBEGTERESE

v UR—NVEE

RN I

m3

77 W5y
AS

m3

785y
Co (%)

m3

77 gy
Co (HH)

m3

61-1-2-10

0.4

0.1

0.04

61-1-2-11

61-1-2-12

0.4

0.1

0.03

71-1-1

71-1-2

71-1-3

71-1-4

71-1-5

71-1-6

71-2-2

81-1-1-1

81-1-1-2

81-1-1-3

81-1-2-2

81-1-2-3

81-1-2-4

81-1-2-5

81-1-2-6

0.2

0.1

0.01

/Wit

1.0

0.3

0.08




~ U v A - LVEBIREMOLBEGTERESE

v UR—NVEE

RN I

m3

77 W5y
AS

m3

785y
Co (%)

m3

77 gy
Co (HH)

m3

81-2-1

81-3-1

0.1

0.1

0.01

81-4-1

81-4-2

81-4-3

81-4-4

99-2-1

99-2-2

99-2-3

101-1-1

101-1-2

101-4-1

101-4-2

101-5-1

111-1

113-1-1

113-1-2

113-2-1

/Wit

0.1

0.1

0.01




~ U v A - LVEBIREMOLBEGTERESE

BTy TS0y 77 L5y 77 85y T -
< U R—NEE AS Co (JEf) Co ()
m3 m3 m3 m3
113-2-2
113-2-3
115-1
118-1-1
118-1-2
118-1-3
118-1-4 0.01
118-1-5 0.02
118-2-3-1
118-2-4-2
118-2-4-3 0.9 0.1 0.01
118-2-4-4 0.9 0.1 0.02
118-2-4-5 0.4 0.1 0. 04
118-2-4-6 0.3 0.1 0.03
124-1 0. 4 0.1 0.04
124-2 0.3 0.1 0.03
124-3 0.3 0.1 0.02
124-4 0. 4 0.1 0.04
/NG 2.5 0.8 0.26




~ U v A - LVEBIREMOLBEGTERESE

BTy TS0y 77 L5y 77 85y T -
< VA= NBE AS Co (Ef77;) Co (F %)
m3 m3 m3 m3

130-1 0.3 0.1 0.03
130-2 0. 4 0.1 0.03
130-3 0.5 0.1 0.04
130-4 0. 4 0.1 0.04
130-5 0.5 0.1 0.04
149-1 0.3 0.1 0.03
151-1 0.2 0.1 0.02
151-2 0.3 0.1 0.02
151-3 0.2 0.1 0.01
151-4 0.2 0.1 0.01
153-1-1 0.2 0.1 0.01
153-1-2 0.1 0.1 0.01
153-1-3 0.2 0.1 0.01
153-1-4 0.2 0.1 0.02
153-1-5 0.1 0.1 0.01
153-5-1-1 0.9 0.1 0.01
153-5-2-1 0.9 0.1 0.01
153-5-2-2 0.1 0.1 0.01
/NG 4.6 1.8 0.36




~ U v A - LVEBIREMOLBEGTERESE

PRI ) TSIy e . NO. 7
v A= V&S AS Co (HEf#) Co (F1 1)
m3 m3 n3 3

153-9-1 o . -
153-9-2 - . -
153-9-3 - . -
153-9-4 - . -
153-9-5 - . -

12071 0.2 0.1 0.02
170-1-1
170-1-2
170-2-1

i 0.3 0.1 0.02

e 0.3 0.1 0.02

1T 0.3 0.1 0.02

i 0.5 0.1 0.05

T 0.1 0.1 0.01

17 0.3 0.1 0.02

18671 0.2 0.1 0.01
186-2-1
186-2-2

/NEE 3.1 1.3 0.22




~ U v A - LVEBIREMOLBEGTERESE

Ty TSy B2 TSI E
< UR—NVEE AS Co (#E&47) Co (5 1)
m3 m3 m3 m3
229-1 0.3 0.1 0.02
229-2 0.2 0.1 0.02
2321 0.3 0.1 0.02
232-2 0.2 0.1 0.01
238-1-1
238-2-1
938-2-2
238-7-1
238-7-2
238-7-3
240-1
240-2
240-1-1
269-1
269-2 0.2 0.1 0.01
27521 0.1 0.1 0.01
275-3-1 0.1 0.1 0.01
275-3-172 0.2 0.1 0.01
NEf 1.6 0.8 0.11




~ U v A - LVEBIREMOLBEGTERESE

BTy TS0y 77 L5y 77 85y T -
< VA= NVBE AS Co (Ef77;) Co (F %)
m3 m3 m3 m3
275-3-1-3 0.3 0.1 0.03
275-3-2-1 0.1 0.1 0.01
275-3-2-2 0.9 0.1 0.01
277-1 0.2 0.1 0.02
281-1 0.3 0.1 0.03
281-2 0.2 0.1 0.01
281-3 0.1 0.1 0.01
281-4 0.2 0.1 0.01
281-5 0.2 0.1 0.01
281-6 0.2 0.1 0.01
285-1 0.2 0.1 0.01
287-1 0.2 0.1 0.01
287-2 0.2 0.1 0.01
289-1 0.1 0.1 0.01
291-1 0.3 0.1 0.02
305-1-1 0.2 0.1 0.01
9-2 0.6 0.1 0. 06
/NG 3.8 1.7 0.28
e 18. 4 7.6 1.42
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